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Seat No.: ________                                                     Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–V • EXAMINATION – SUMMER 2013 

Subject Code: 350605 Date: 23-05-2013        

Subject Name: Quality control and Monitoring 

Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic. 

Q.1 (a) Define curing of concrete and methods of curing for good quality of 

construction work. 

07 

 (b) Explain ‘Quality’ and how it can be achieved in construction work? Write 

about important points for good quality of cement.                                          

07 

Q.2    

 (a) Define TQM and concepts of TQM in details. 07 

 (b) Define the following terms.                                                (1)Accuracy (2) 

Precision (3) Systematic errors (4) Estimation                 (5) Inspection (6) 

Least count (7) Mistake 

07 

  OR  

 (b) Find relative precision from 7 nos. of observations of field survey are as 

following.                                                                                 1.424M, 

1.421M,1.422M,1.423M,1.419M,1.430M,1.427M 

07 

Q.3    

 (a) Some offset observations of irregular boundary line are carried out one by 

one  at 10 m interval distance are as follows.                           0 m, 8.6 m, 

6.3 m, 8.4 m, 7.2 m, 8.5 m, and 0 m.                                 Calculate area by 

using Simpson's rule. 

07 

 (b) Explain types of Hypothesis and method of testing of Hypothesis.  07 

  OR  

Q.3 (a) State  two tailed test and one tailed test of Hypothesis. 07 

 (b) Explain tests of significance for variables (small samples) in details. 07 

Q.4    

 (a) Write short note on 'Statistical Quality Control '. 07 

 (b) During the period of rainy season 6 nos. of Big Trucks of cement are 

arrived and observed some bags of cement are in wetted condition in each 

Big Truck are as following.                                                            Nos. of 

bags: 45, 38, 42,48,41,40.                                                            Calculate 

(1) Mean (2) Median (3) Standard deviation                    (4) Co. efficient of 

variance (5) Range. 

07 

  OR  

Q. 4 (a) Describe in details of Sampling Techniques. 07 

 (b) Write importance of ‘National Building Code’. 07 

Q.5    

 (a) Write short note on Control Chart. 07 

 (b) What is ISO 9000? Write benefits an ISO 9000 certified industries. 07 

  OR  

Q.5 (a) Define power of a Hypothesis test and Operating Characteristic Curve. 07 

 (b) Explain ‘Acceptance Sampling’. 07 
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5|`Gv!5|`Gv!5|`Gv!5|`Gv!    V S|[\FSL8G]\ SIMZL\U VG[ ;FZL U]6JtTFGF AF\WSFD DF8[ SIMZL\UGL 5wWlTVM ;DJHFJMP  07 

 A cU]6JtTFc ;DHFJM VG[ AF\WSFDDF\ T[ S[JL ZLT[  5|F%T SZL XSFI m ;FZL U]6JtTFGF l;D[g8 lJX[  
VUtIGF D]N'FVM ,BMP  

07 

    

5|`GvZ5|`GvZ5|`GvZ5|`GvZ    V c8LSI]V[Dc GL jIFbIF VF5M  VG[ lJ:T'T ZLT[ 8LSI]V[DGF bIF,M ;DHFJMP   07 

 A GLR[GF 5NM ;DHFJMP  
s!f RMS;F. sZf IYFY"TF s#f 5wWlT;ZGL +]l8 s$f V\NFH s5f lGZL1F6 s&f ,W]TD DF5 XlST 
s*f E},  

07 

  VYJFVYJFVYJFVYJF  

 A GLR[ H6FJ[, 1F[+LI ;J["1F6GF ;FT VJ,MSGM DF8[ ;A\lWT IYFY"TF XMWMP  
1.424 DLP4 1.421 DLP4  1.422 DLP4 1.423 DLP41.419 DLP41.430 DLP4   1.427 DLP 

07 

5|`Gv#5|`Gv#5|`Gv#5|`Gv#       

 V sVf ;F\S/ ;J["1F6 NlZdIFG 10 DLP GF  V\TZ[ VlGIlDT CNGF VG],\A V[S 5KL V[S ,. GLR[ 
H6FjIF 5|DF6[ GM\W SZL K[P  
0 DLP4 8.60 DLP4 6.30 DLP4 8.40 DLP7.20 DLP48.50 DLPVG[  0 DLP 
GM\W SZ[,F VJ,MSGM 5ZYL ;Ld5;GGL ZLTYL ;J["1F6 HuIFG] 1F[+O/ XMWMP 

07 

 A  c5lZS<5GF GF 5|SFZc VG[ 5lZS<5GF GF 5lZ1F6 5wWlT ;DHFJMP  07 

  VYJFVYJFVYJFVYJF  

5|`Gv#5|`Gv#5|`Gv#5|`Gv#       

 V c5lZS<5GF 5lZ1F6GF cJG 8[.<0 8[:8c VG[  c 8] 8[.<0 8[:8c ;DHFJMP  07 

 A 8[:8 VMO ;LuGLOLSg; OMZJ[ZL V[A<; sGFGF GD}GFVMf lJX[ ;DHFJMP  07 

    

5|`Gv$5|`Gv$5|`Gv$5|`Gv$       

 V cVF\S0FSLI U]6JtTF lGI\+6c 5Z 8\]S GM\W ,BMP  07 

 A JQFF" k]T] NlZdIFG & DM8L 8=S ;LD[g8 EZLG[ AF\WSFD :Y/[ 5CM\RTF GLR[ H6FjIF 5|DF6[ 8=SDF\YL 
;LD[g8GL Y[,LVM ELGL VJ:YFDF\ HMJF D/LP  
ELGL l;D[g8GL Y[,LVM o 454 304 424 484 414 40 
p5ZMST H6FJ[, VJ,MSGM 5ZYL GLR[GFGL U6TZL SZMP  
s!f ;Z[ZFX sZf DL0LIG s#f 5|DFl6T lJR,G s$f J[ZLVg; VR/F\S s5f Z[gHP 

07 

     VYJFVYJFVYJFVYJF  

5|`Gv$5|`Gv$5|`Gv$5|`Gv$       

 V c;[d5,L\UGL ZLTMc lJ:T'T ZLT[ ;DHFJMP  07 

 A cG[XG, lA<0L\U SM0c GF DCtJ lJX[ ,BMP 07 

    

5|`Gv55|`Gv55|`Gv55|`Gv5       

 V cS\8=M, RF8"c lJX[ 8\]S GM\W ,BMP  07 

 A VF. V[; VM 9000  X\] K[ m  VF. V[; VM 5|DFl6T .g0:8=LhGF OFINF ,BMP  07 

  VYJFVYJFVYJFVYJF  

5|`Gv55|`Gv55|`Gv55|`Gv5       

 V c5FJZ VMO CF.5MY[;L; 8[:8c VG[ cVM5Z[8L\U SZ[S8ZL:8LS SJ"c ;DHFJMP  07 

 A cV[;[%8g; ;[d5,L\Uc ;DHFJMP  07 
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